1.

th2 1Y Zo] BA = BC ¢l o] 5¥4ZE ABC oA /ABD =
104° &, /BAC ©] 27]=2?

D

Bo4°

@© 46° @ 48 ® 50° @ 52° ® 55°



e 2™ go] FHol At Fol Hiolz=E . /BCE = 136°

d o, zx 9] k& FokeiEt

______ A F
\I s
¢ ED
""" B
K



3. o 294 H 1+ aABC 9] YAiloltt. DE//BC ©]2L AD =7,
AE=5,DE =6,BC =9 ¥ o], AABC 9] £ 9] Zo]Z F5}ojzt,




4. o2 I H 1= AABC 9 WAlolt} /A =60° ¢ o, /BDC +
(BEC 9] 327]& Fotofzt

-
/




& P4 AB = BC = CD o|1
(CDE = 120° ¢ w|, /CAB ¢ 271& +
stofet,

120°

B

D E



6. Tz 2" 1 o 2718 HEEA 7 AL2?

>

@® 30° @ 45° ® 50° @ 60° ® 65°



7. TR 989 AABCO)A AB = AC, /BAD = /CAD Y ujj, CD ¢
Zo|e}t /ADC ¢] 2715 oo},

A

GE*ZCT: cm



8. THe I%elM A 0 7h aABC 9 9 u, /B ©] 2715 Fatelat.

A




